O REE (1 2#&Fh)

=n 1cm 50cm 1m = [ o0 s, LK

i BNE | BAE | BOME | BARE | BOE | BARE | DACHEBH | RA > HE
HERFE 0. 06 0.07 0. 06 0.07 0.06 0. 07|fbi5th 10
A REE 0.08 0.12 0.08 0.12 0.08 0. 12|FEREHR 12
HISREE 0.06 0. 06 0.06 0. 06 0. 06 0.06|2TRE—1{E 1
T~ REE 0.06 0.06 0. 06 0. 06 0. 06 0.06|2TRE—1{E 1
AHREE 0.08 0.09 0.08 0.09 0.08 0. 09|FEREH L 10
AHREE 0.06 0. 06 0.06 0.06 0. 06 0.06|2TRE—1{E 10
NEFYAILEE 2 — 0. 06 0. 06 0. 06 0. 06 0.06 0.06|2TRE—1{E 11
BIREE 0.06] 006 006 006 006 _006|2CH—I& 6
THEREEE 0.06 0.06 0.06 0.06 0. 06 0.06|&TRE—1{E 16
FHHEEE 0.05 0.05 0.05 0.05 0.05 0.05|2TRE—1{E 10
EHERFE 0. 06 0.06 0.06 0.06 0.06 0.06|&TRE—1{E 11
EARREE 0.07 0.07 0.07 0.07 0.07 0.07|&TRE—1{E 8




